BLR AR ¥ LD

[1] BEESEMWLR |
1] a,=0, a,=1, a,,;—3a,,;—10a,=0 GCioTi’anéiﬁcﬂ{an} o
kb k.
<fRiE> (a,,+2 Ba,.= a( wi1— By )@ﬁ/%ZEDﬂ% )
ChEEWMTBE
Gprs—(a+B)a,, +afa,=0

L72D  2RABRAD RERKOBIR ZEETEET,
BIRE 1 OWifLE 2HFER 2—32—10=0 L EE. 202 @A a, BTH

434 7 3% D\ 'xﬂ 3xX —{0=0
(Z—-i‘)(?(-rz) o yé & "Z)

- Anrz2 +2 an‘r/ f(ﬂm/ 'fQQn)
L= Ot 1200 e < e

by = S',Zn (A,—az—a,, 1)
b= ¢ N
B Qi t20a= £ L
2] Cinp — §Qn+,— = 2 ( Qi ffan)
Cn= G — §6n 2 <e
Cri= =2Cn (&= Qe—$t0=1)
Cn= (-2)"
H1 O = §$hn = (~2) e
@—@ & Gt +2 0= €™
9 Dot — §On = .(-—z)n—,

7Qn= s —_(—9_). n=/ ‘.

51 On = S_nﬂ"(’z)..nq




[2] E#EScHifk
KOFIFC L > TED LN DS (a,), (b,} B3b 5,
a,=2, =1, a,,,=3a,+b,, b,,,=a,+3b,
(1) #5l{a,+b,}) o—EEZRD L,
2 %5l{a,—b,} O—BEHEELRD L,
3 #Fl{a,}, {b,} o—EE, ThEhRDL,

#)g ) Onet + e = 4 (Qntlan)

An= Ont b th<,
Lot = X (Ni= Qi+ La= 3)
A= 3-¢" o el =|3- @t
) Quer = buny = 2 (0=t )
In=On—tn ¢ <.
drii=2%n ( Ji=Ci—4,=1)
yn:ZrH o On—hn =27 | -.@
[3) @ @ & 20n= 3. (40
O = 3.;("-1_‘_2»14

—%

A\

@‘@'p/ 2,£V,: 3. Sé”—'__zn—{
. L -l
as b = = é =2"

<HRERIRE>
ROFMHFZL > TED DNDEF {a,) D—REERD X,

1) a=1, ay=4, a,,,+a,,,—6a,=0

A\

(2) al=0’ 02=2’ an+2_4an+1+4an=0

on=1__or  aoyn-1
1) a,,=7 2 52( 3) 2 a,=(n—1)-2""1

ROFFT L > TEDLNDEF {a,), {b,} B3d 5,
a,=0, b,=1, a,,,=a,+3b,, b,,1=a,—b,
() %Fl{a,+b,}, {a,—3b,} O—fEE, ThEhkDL,
2 #F{a,), (b,) P—EE, ThEhkDE,
' ®= (1) a,+b,=2""1 a,—3b,=—3(=2)*"!

_ 3.211—1_3(_2);1-1 _ 2n—1+3(_2)n—1
(2) an_ 4 ’ bn_ 4




